L | Compare Customary Units by Multiplying Name:

1]

Choose the best answer

If a coffee cup holds a
volume of 7 teaspoons, do 3
coffee cups hold a volume
greater than 1 cup?

Yes No

Choose the best answer

A taco weighs 8 ounces. If a
case contains 3 tacos, does a
case weight greater than 1

pounds?
Yes No
B

Choose the best answer
A table is 10 feet wide.
Are 4 tables wider than

13 yards?
Yes No
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Choose the best answer
If one carrotis 2 inches
long, are 9 carrots
longer than 1 yard?
Yes No
@
Choose the best answer
If there are 9 pieces of yarn
and each piece ofyarnis7
inches long, are the pieces of
yarn longer than 1 yard?
Yes No
@

Choose the best answer

If a baseball bat is 8 feet
long, are 10 baseball bats
longer than 27 yards?

No Yes
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Choose the best answer
A water bottle holds a
volume of 1 teaspoon. Is the
volume of 8 water bottles
greater than 3 tablespoons?
Yes No
|ﬁJ
Choose the best answer
A brick is 7 inches
tall. Are 9 bricks
taller than 6 feet?
No Yes
@

Choose the best answer

A cell phoneis 5 inches
long. Are 9 cell phones
longer than 3 feet?

Yes No
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Choose the best answer

A piece of wood is 9 inches
long. Are 7 pieces of wood
longer than 6 feet?

No Yes

#11

Choose the best answer

One cookie contains 9 teaspoons
of chocolate chips. Do 9 cookies
contain more than 1 cup of
chocolate chips?

Yes No

#12

Choose the best answer

One person at a picnic can
eat 6 pints of fruit salad. Can
3 people eat more than 2
gallons of fruit salad?

Yes No
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Question Answer
#1 choice 2
#2 choice 1
#3 choice 1
#4 choice 2
#5 choice 1
#6 choice 1
#7 choice 2
#8 choice 1l
#9 choice 1
#10 choice 1
#11 choice 1
#12 choice 1
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